Introducing Fractions of Amounts —

Challenge Activity - Finding Two Thirds

Find two thirds of these amounts. The first one has been done for you.
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Two thirds is two lots of@. 2 x[ 2 ] =[4]
[ga][aa] Two thirds of [ 6 |is( & | %of[b}[t.]

12 One third of 12 is 4.
kites

3
299999 Two thirds is two lotsofD. ZX[
?????? Twothirdsof[ ]is[ ] %of[ ]=[ ]

cats Two thirds is two lots of D 2 x [ ] = [ ]

P 4 ue ,
mmm Twothirdsof[ ]is[ ] ?of[ ]=[ ]
P 4 ue

fl%ls Two thirds is two lots ofD, Zx[ ]:[ ]
lofoR o oo

loXoRoXoKe Twothirdsof[ ]is[ ] %of[ ]=[ ]
lef oo o)

stars Two thirds is two lots of D 2 x [ ] ) [ ]

Twothirdsoj’[ ]is[ ] %of[ ]=[ ]




Finding Two Thirds Answers

Find two thirds of these amounts. The first one has been done for you.
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Two thirds of[ 9 ] is[ 6 ]

flowers
OB O
OB Y
OB O

Two thirds is two lots of @
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